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Name /LQ/(J,

Biology 240 YFall 2012 - Case

Write your name on this page and turn it in with your Scantron form.

47.  Streptococcus lacks an electron transport chain. (4)
a) How does this bacterium reoxidize NADH?

On Lermesdaton, electrone from AAOH 7T .
-Erar\—%r@::ﬂpl +o ’}D%j—!*bu/m, wuki/é laetie aerd

b) Where is the NADH formed in this organism? 6’1)\4 /i 1)[/4 PXY
P

48. ASJ:iook at the positive glucose fermentation test and urease test on the front desk.
Phenol red is used as the indicator in both. (4)

a) What color is glucose +. lg}_ﬁi‘o w Why? /ihan"_(’ :'-@:4;* -?jrns T
)k
Why? Phenol rect o
n

b) What color is urease +. ﬁzc/:swu aM@J‘: ~. Phl >




